
ErrataPrefacePage xix, line 10: \Chrisophe" should be \Christophe".Chapter 2Page 56, paragraph 1: The last sentence of the paragraph should read:When E is a Banach space with norm dual E0, we refer to �(E;E0) asthe weak topology on E, and �(E0;E) as the weak�topology on E0."Chapter 3Page 99, line 4: Should start[y + ev(0)=(1� ev(0))]e�v(c) � 1=(1 � ev(0)):Page 103, line 15: Should startW (c; 0) = c
=�Chapter 4Page 125, condition (2): Should read \x 2 Rm+1+ ", not \k 2 Rm+1+ ".Page 126, line 5: Should readmXj=0 `j � 1 and `j ; aij � 0 for all i; j:Page 128, line 11: The de�nition of G should be:G(x; �; N) = fz 2 sm : jxt � ztj < � for t = 1; : : : ; Ng:Page 152, line -8: Should have \DtW1(c�t ; J(Stc�))" instead of \W1(c�t ; J(Stc�))".



ERRATAChapter 5Page 159, displayed equation: Should read:1 +R(St�1c) = U1(St�1c)U2(St�1c) = W1(ct; U(Stc))W2(ct; U(Stc))W1(ct+1; U(St+1c)) :Chapter 8Page 293, lines 14-15: Should read:a net trade x is c = ((x01 + 1; x11 + k); (x02 + 1; x12); : : : ). The consumersupplies labor inelastically, and has utility U(c) = U(x11 + k; x12; x13; : : : ).Page 293, beginning of paragraph 4 and display: Should read:For (J3), suppose x 2 X, y 2 Y and � > 0 are given. Choose � � 1with � � ��b1. Now(�1; 0) + (��;��) + �(1=
; �k=
) = (�1� � + �=
;�� + ��k=
)� �((1� 
)=
; (�k � 
�b1)=
):Page 299, line 16: Should have \(x1; : : : ; xH )" instead of \(x1; : : : ; xH)".Page 305, line -8: Should end with \�kpk1 = �pe � �p�x �"


